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Q-1. Sakshi is a very intelligent girl. She always got 1st position in her class. But at the same time, she has the tendency
to disrupt people around her. She often argues with her parents and struggles to control her anger. She also faces
difficulty in making friends.

Based on the above case, answer the following questions.

1). From which disorder Sakshi is suffering?

A)OCD B)ODD C)ASD. D)SPD

2). What is the full form of ODD?

A) Oppositional Defiant Disorder. B) Obsessive Defiant Disorder

C) Opposition Defiant Disability. D) Offensive Defiant Disorder

3). Which of the following can be the cause of ODD?

A) Genetic factors. B) Social factors. C) Psychological factors. D) All of these

Q-2. ABC International School is going to organize Annual Sports Day. Mr. Rohit Kumar Yadav, the sports teacher, has
taken the responsibility to organize a sports event so that he has to form all committees who work Pre, During and Post
competition. Based on this case answer the following questions:

1) Which one of the following committee works Pre-competition:-

A) Award committee. B) Registration committee

C) First Aid committee D) Officials committee

2). Which one of the following committee works Post-competition:-

A) Award committee. B) Officials committee

C) Registration committee. D) First Aid committee

3).Which one of the following committee works During-competition:-

A) Award committee.  B) Officials committee

C) Registration committee. D) Welcome and decoration committee

Q-3 Jatin is a weightlifter in the 96 kg category. He has to participate in a weightlifting competition next week so he
takes care of his health a lot. For this, he includes all the essential nutrients in his diet. Based on this case, answer the
following questions.

1) What do you think would be the most important component of Jatin's diet?

A) Proteins. B) Carbohydrates. C) Vitamins. D) Minerals

2) What do you think Jatin requires the most?

A) Flexibility B) Strength. C) Speed D) Endurance

3). Which of these is known as body-building food?

A) Calcium. B) Proteins. C) Minerals. 4)Vitamins

Q-4 Name the type of tournament in which the defeated team gets eliminated and does not have another chance to
play.

A) Bye. B) League. C) Fixture. D) Knockout

Q-5 To calculate Total No. of matches in a single league tournament

A) (N-1)2. B)(N2-1). C)(n2-1/2) D) N(N-1)/2

Q-6 Which food item has carbohydrates and fats

A) Tomato and Almond. B) Bread and butter. C) Rice and Pules. D) Potato and Tomato

Q-7 Blood pressure is the force of blood in the arteries. When this pressure becomes abnormally high then it is called

A) Heart Attack. B) Blood sugar. C) Hypertension. D) Cardiac arrest

Q-8.According to Asthanagyog Asana lies in what place -

A) Second. B) Third. C) First. D) Fifth

Q-9.SPD’s expended form is

A) Sensory Processing Disorder. B) Sensory processing department

C) Special police department. D) Special processing Disorder

Q-10Which development is motor development

A) Sense Organs. B) Postural deformity. C) Disorder development. D) Bones & muscles
Q-11. Identify the below-given Asanas and write their names.
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Q-12. What is Kinesiology?

Q-13. Your grandmother is an active lady. She says she has much better fitness as compared with you because she takes
a balanced diet, does regular exercise and often sits in the sunshine.

Based on this case, answer the following questions.

1). What is included in a balanced diet?

A) Carbohydrates. B) Vitamins. C) Proteins. D) All of these

2). Which is not a direct benefit of a balanced diet?

A) Makes us energetic. B) Proper functioning of organs.

C) Increases age. D) Improves metabolism

3). Which vitamin do we get from sunshine?

A) Vitamin A. B) Vitamin B. C) Vitamin C. D) Vitamin D

Q-14 .Roshni, a girl of 14, faces difficulty in breathing. She usually gets a cough at night and sometimes early in the
morning. She gets tired soon and also feels pain in her hands, feet, and shoulders. So, she takes an appointment with a
doctor who finds out the disease at an early stage.

Based on the above case, answer the following questions.

1-What do you think about which disease Roshni is suffering from?

A) Diabetes. B) Hypertension. C) Asthma. D) Obesity

2- What could be the reason behind the disease?

A) Pollution. B) Respiratory Disorder. C) Genetic Factor. D) All of these

3) Which asana would be effective to cure the disease which Roshni had?

A) Tadasana. B). Parvatasana. C) Vajrasana. D) Savasana

Q-15.Explain the procedures of Paschimottasana?

Q-16. What do you mean by diabetes? Discuss the procedure, benefits and contraindications of Bhujangasana?
Q-17.What is hypertension? Discuss the benefits and contraindications of Ardha Chakrasana and Vajrasana?

Q-18. What do you mean by healthy weight?

Q-19.Define food supplements?

Q-20.Enlist the forms of Vitamin B and explain any one in brief?

Q-21. In sports such as Boxing & Wrestling, the players tend to lose weight sharply. Explain pitfall of dieting?

Q-22. Write a short note on balance diet ?

Q-23. Draw a fixture of 11 Football teams participating in a tournament on the basis of knock-out?

Q-24.What are specific sports programmes? Explain any three?

Q-25.What is league tournament? Draw a fixture of 21 teams participating in league tournament League tournament?
Q-26. Draw a fixture of 9 kho-kho teams on the basis of Tabular method.

Q-27. Write the short note of Pre , During and Post responsibility.

Q-28. Write the short note of Projectile.

Q-29. Write the scientific name of all vitamin.

Q-30. Every one prepare your practical file on the basis of your syllabus.
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Practice Questions

1. What is the difference between a Super Key and a Candidate Key?

2. Write a SQL command to create a table "Employee" with columns "Emp_ID" (primary key), "Name", and "Salary".
3. How do you ensure data consistency across related tables in RDBMS?

4. What is the purpose of Foreign Key in RDBMS?

5. Write a SQL query to retrieve employee names with salaries greater than 50000.
6. What is the purpose of "'ON DELETE CASCADE" in DBMS?

7.How does "ON UPDATE CASCADE" maintain data consistency?

8.Can you provide an example of using "CASCADE" in a real-world scenario?
9.What is the purpose of the ‘GROUP BY" clause in SQL?

10.How does ‘"GROUP BY" differ from "ORDER BY'?

11.Can you use multiple columns in a "GROUP BY" clause?

12.What is the purpose of the "ORDER BY" clause in SQL?

13. How do you sort data in ascending order using "ORDER BY'?

14.Can you use multiple columns in an "ORDER BY" clause?

15.What is the purpose of the "UPDATE" statement in SQL?

16.How do you update multiple columns in a single "UPDATE" statement?

17.What is the importance of the "WHERE" clause in an "UPDATE" statement?
18.What is the difference between DDL and DML?

19.Which DDL command is used to create a new table?

20.Which DML command is used to delete rows from a table?
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CLASS 12 - ENGLISH CORE

Section A
1 | Kamala Daswas a

a) Keralite b) Punjabi c) Bengali d) Gujarati
2 | Which poetic device is used in Trees sprinting ? (My Mother at Sixty - Six)

a) Simile b) Alliteration c) Personification d) Metaphor
3 | What is her work known for? (My Mother at Sixty - Six)

a) For the expressions used b) For its popularity

c) For its originality, versatility and flavour of the soil  d) For its style




What was the absolute fallout of the poet Kamala Das for her dying mother?

a) She kept mum b) She laughed at her c) She wept bitterly d) She smiled at her

Why wasthe poet continuously smiling? (My Mother at Sixty - Six)
a) Her mother had cracked a joke b) To hide her emotions
c) She was happy to depart her mother d) She was excited to reach her destination

The picture of the poet Kamala Das mother’s corpse - like figure retrieved:
a) Old happy memories b) An image of positivity
c) Certainty of long life d) Old childhood fear

Why did Kamala das compare her mother with a late winter’'s moon?
a) Her face was wrinkled like the patches of the moon b) Her face was bright like a moon
c¢) She had a round face d) She was pale and dull

What is the moral of the poetry my mother at sixty - six ?
a) The human becomes vulnerable with the passage of time
b) Time and aging spares none

c) No one can escape from the childhood fear

d) Life is short and skeptical

What is the kind of pain and ache that the poet feels?
a) Headache b) Heart attack c) Children screaming at her d) Losing her mother

10

What did the parting words of the poet Kamala Das suggest?
a) She would come back very soon b) She was taking it lightly
c) She was unaware of the truth d) She knew that she was helpless

11

It was really an overwhelming fact for the poet Kamala Das that she would:
a) Loseall her savings soon b) Lose her enthusiasm in life
c) Lose her job and status d) Lose her ailing mother

12

Why did the poet Kamala Das call the trees as sprinting?
a) They seemed to be running b) The trees were huge and old
c) These were young trees d) They appeared weak and bend

13

Why was the realization painful (my mother at sixty - six)?

a) She realized that her mother was growing old and nearing death

b) Because the poet was driving to Cochin airport from her parents home
c) She noticed that her mother was sleeping with her mouth open

d) She thought that her mother was no longer beautiful

14

What was the poet’s childhood fear about old age in the poem My Mother at Sixty - Six?
a) She was not able to accept the fact that her mother was growing old

b) That she would lose her beauty

c) That she would have a painful and miserable old age

d) She feared that her mother would leave her

15

How did the poet Kamala Das hide her emotions from her mother?
a) By giving a short cry b) By traversing the security check without getting notice
c) By smiling d) By flapping her mother goodbye

16

The poet Kamala Das has described her mother’s face ashen to display:
a) her pale face and grey coloured skin b) her inner beauty and charm
c) a cloud of dust on her face d) her customary hard work

17

Identify the poetic device used in as a late winter’s moon ? (My Mother at Sixty - Six)
a) Metaphor b) Alliteration c) Pun d) Simile

18

Where was the poet Kamala Das steered?
a) To the Cochin airport b) Towards the Mumbai airport
c) Towards the Kerala airport d) To the bazaar

19

The poet Kamala Das has correlated her mother with:
a) a vigorous child b) the sprinting trees




¢) many children d) a dead body

20 | What was the supreme promise made by the poet Kamala Das to her mother?
a) That she would make an illustration of her b) That she would miss her a lot
c) That she would appear back d) That she would memorize her in dreams

21 | The poet has compared her mother to a corpse, why?

22 | How was the poet’s mother affected by her daughter’s departure? Answer in reference to the poem My
Mother at Sixty - Six.

23 | What do the parting words of Kamala Das and her smile signify?

24 | What did Kamala Das see when she looked back at her mother after the security check at the airport?

25 | Why did the poet say ‘children spilling out of their homes’?

26 | What is the familiar pain and ache the poet feels in the poem My Mother at Sixty - Six?

27 | What do the parting words of the poet, Kamala Das and her smile signify?

28 | What was the poet’s childhood fear? Why did she compare it with an ache in the poem My Mother at Sixty -
Six?

29 | Where was the poet (My Mother at Sixty - Six) before leaving for the airport? Where was she going?

30 | What s the significance of the prolonged smile of the poet? Answer in reference to the poem My Mother at
Sixty - Six.

31 | Which thought did the poet put away and why? Answer based on the poemMy Mother at Sixty - Six.

32 | How did Kamala Das’s mother look during the drive to Cochin?

33 | The poet talks about pain and ache. Both have the same meaning but why did she bring them at varying stages
in the poem?

34 | What sort of pain does the poet feel in My Mother at Sixty - six?

35 | How was the relationship of the poet with her mother in reference to the poem?

36 | What s the significance of the word but in 'but all I said was see you soon, Amma? (My Mother at Sixty - Six)

37 | Why has the poet’s mother been comparedto ‘a late winter’s moon’ in the poem My Mother at Sixty - Six?

38 | What were the poet’s feelings on her way to the airport? (My Mother at Sixty - six)

39 | See you soon Amma. How are these words contrary to the speaker’s emotions? (My Mother at Sixty - six)

40 | What was the thought of the poet when she wrote ‘young trees sprinting’?

41 | Read the following extract and answer the questions that follow:

| looked again at her, wan,
pale
as a late winter’s moon and felt that
old
familiar ache, my childhood’s fear,
but all | said was, see you soon,
Amma,
all I did was smile and smile and
smile ...
1. The poem My Mother at Sixty - Six captures the of the narrator.
I.happiness
II. fear
lll. dismay
IV. anxiety
Choose the most appropriate option:
a. Onlyl
b. landIV
c. llandlIV
d. Onlyll
2. Identify the phrase from the extract that suggests the following:
She was overwhelmed with emotion and could not speak much.
3. The word wan in the given context most nearly means
a. pale
b. old




c. unwell
d. anxious
4. Complete the following analogy correctly. Do not repeat from the example used.
Trees sprinting : personification : : : simile
5. Onthe basis of the extract, study the two statements, | and Il given below:
I. The poet accepts the reality of her mother’s declining health and old age.
Il. She is nostalgic about her childhood days spent with her mother.

Choose the most appropriate option:

a. listrue, butllis false

b. Bothlandll are true

c. llisthe reason for |

d. Il cannot be inferred from the extract

6. Explain the following statement with reference to the above extract:
All 1 did was smile and smile and smile.

42 | Read the following text carefully and answer the questions that follow:
...but soon
put that thought away, and
looked out at Young
Trees sprinting, the merry children spilling
out of their homes, but after the airport’s security check,
standing a few yards away, | looked again at her, wan, pale
as a late winter’s moon and felt that old
familiar ache, my childhood’s fear,
(My Mother at Sixty - six)
1. Select the correct option. (1)
The impact of merry children on poet’s mind
a. caused anxiety
b. created a sense of longing
c. brought comfort
d. reminded her of her own childhood
2. The tone of the poet expressed in the above lines is(1)
a. sadness and helplessness
b. excitement and eagerness
c. appreciation and gratitude
d. anger and anxiety
3. The words wan, pale indicate the mother’s (1)
4. Complete the following sentence appropriately.(1)
The poet looked at her mother again to
5. Explain one inference that can be drawn from the I|ne felt that old familiar ache .(1)
6. put that thought away .
What is the intention of poet that can be inferred from the above line?(1)
43 | Read the following text carefully and answer the questions that follow:

| saw my mother,

beside me,

doze, open mouthed, her face
ashen like that

of a corpse and realized with
pain

that she was as old as she




looked but soon
put that thought away, and
looked out at Young
Trees sprinting, the merry children spilling
out of their homes. (My Mother at Sixty - six)
1. The phrase ashen like that of a corpse gives the impression that the mother is (1)
a. frustrated
b. depressed
c. dead
d. weak
2. State whether the following statement is True or False, with reference to the extract. (1)
"The mother was suffering from some fatal disease.’

3. Which of the following themes is best represented in the given extract? (1)
a. Lifeis short and one must enjoy it
b. Ageing and Mortality
c. Sleeping and Playing
d. Art of Parenting
4. Pick the option in which the word ’spilling’ is used in the same sense as in the extract. (1)
a. Rahul was responsible for spilling the beans by telling everyone the secret.
b. He opened the bag, spilling all its contents on the table.
c. Tryto keep that crowd from spilling onto the main street.
d. The cat spilled all the milk.
5. The phrases 'Young Trees sprinting and merry children spilling’ represent: (1)

a. Youth
b. Oldage
c. Disease
d. Travel

6. Complete the sentence appropriately. (1)
’She was as old as she looked.’
The repetition of the word as suggests that

44

Read the following extract and answer the questions that follow:

Driving from my parent’s

home to Cochin last Friday

morning, | saw my mother,

beside me,

doze, open mouthed, her face

ashen like that

of a corpse and realised with

pain

that she was as old as she

looked but soon

put that thought away, and

looked out at Young

Trees sprinting, the merry children spilling

out of their homes.

1. Choose the option that displays the same poetic device as used in the extract.

a. deafening silence
b. swaying softly and slowly
c. pitter - patter rain




d. as white as snow
2. What does the phrase realise with pain indicate?
a. guilt
b. anguish
c. wounded
d. revelation

3. The poet describes her mother as
a. old
b. wise
c. quick
d. weak
e. strong
Choose the most appropriate option:
i. landlIV
ii. llandV
iii. llandIV
iv. landV

4. Answer in one word.
On seeing her mother dozing, open mouthed, the poet felt

5. The merry children symbolise all of the following except

a. freedom and energy

b. playfulness and cheerfulness

c. vigour and health

d. maturity and innocence
6. Which of the following is an apt title for the extract?

a. Spring and Winter

b. Merry Thoughts

c. Trip to Cochin

d. My Beautiful Mother

45

Read the following extract and answer the questions that follow: “But after the airport’s
security check, standing a few yards
away, | looked again at her, wan, pale
as a late winter’s moon.”
1. Whydid the poet look her mother again?
a. Tosee if she was sleeping
b. To check if she was well
c. To bid her good bye
d. To say something to her
2.  Mother’s face has been compared to
a. the brightness of the full moon
b. paleness of late winter’s moon
c. cheerfulness of young children
d. the lifelessness of a drooping old tree
3. The mother’s face was pale because
a. Mother’s old age
b. Mother’s depleting energy
c. Mother’sillness
d. Both Mother’s old age andMother’s depleting energy
4. Identify the figure of speech employed in the last line of the given extract




5. Onthe basis of the extract, choose the correct option with reference to the two statements given
below.
(1) Mother’s face is highly - spirited.
(2) Late winter’s moon is dull and lacks luster.
a. (1) can be inferred from the extract but (2) cannot.
b. (2) can be inferred from the extract but (1) cannot.
c. Both (1) and (2) can be inferred from the extract.
d. (2)isthe reason for (1) and can be inferred from the extract.
6. Choose the word which does not mean "WAN’.
a. Faint
b. Colourless
c. Anemic
d. Supple

46 | Read the following extract and answer the questions that follow: but after airport’s
security check, standing a few yards
away, | looked again at her, Wan,
pale
as a late winter’s moon and felt that
old
familiar ache, my childhood’s fear
but all | said was, see you soon,
Amma,
All | did was smile and smile and
smile- - - - - -
1. Choose the correct option:
In the above extract the narrator feels
a. satisfied
b. fearful
C. nostalgic
d. regretful
2. Identify the word in the extract that means colourless .
3. Complete the following analogy correctly:
She sang like a bird : Simile
All I did was smile and smile and smile :
4. Read the following statement and choose the correct option:
(1) The poet had gone through the security check.
(2) She did not want to look at her mother.
a. (1)istrue, but (2) is false.
b. (1)isfalse, but (2) is true.
c. Both (1) and (2) are true.
d. Both (1) and (2) are false.
5.  What childhood fear is the poet referring to?
6. Fill the blank with appropriate words with reference to the extract:
Pale as a winter’s moon suggests
47 | Read the following extract and answer the questlons that follow: .... and felt that old familiar ache,

my childhood’s fear,
but all | said was, see you soon,
Amma, all | did was smile and smile and smile ...
1. What did the poet do after the security check?
a. The poet stood a few yards away from her mother and looked at her face again




b. The poet stood a few yards near her mother and looked at her face again
c. The poet stood a few yards away from her mother and thinking about her
d. None of these
2. What was the childhood fear that now troubled the poet?
a. Fear of losing her mother
b. Examination fear
c. Fear of undergoing a surgery
d. Fear of leaving her home town
3.  What do the poet’s parting words suggest?
a. Optimism

b. Reassurance
c. Nostalgia
d. All of these
4. On the basis of the extract, choose the correct option with reference to the two statements given

below.

(1) The poet had already experienced such pain.

(2) She smiles to conceal her pain.
a. (1) can be inferred from the extract but (2) cannot.
b. (2) can be inferred from the extract but (1) cannot.
c. Both (1) and (2) can be inferred from the extract.
d. (2)isthe reason for (1) and can be inferred from the extract.

5.  Name the poetic device used in the ling, all | did was smile and smile and smile.

a. Simile
b. Alliteration
c. Metaphor
d. Transferred Epithet
6. The poetis gripped by the of the past and of the future without her mother.

48

Read the following extract and answer the questions that follow: And
looked out at Young
Trees sprinting, the merry children spilling

out of their homes, but after the airport’s
security check, standing a few yards
away, | looked again at her, wan, pale
as a late winter’s moon and felt that old
familiar ache ...
1. Whatis the most likely reason the poet capitalised Young Trees ?
a. convey a clearer meaning.
b. highlight the adj. - noun combination.
c. enhance the contrast.
d. draw a connection with the title.
2. Onthe basis of the extract, choose the correct option with reference to the two statements given
below.
(1) The poet knows her mother has aged.
(2) She is struck with the pain of separation.
a. (1) can be inferred from the extract but (2) cannot.
b. (2) can be inferred from the extract but (1) cannot.
c. Both (1) and (2) can be inferred from the extract.
d. (2)isthe reason for (1) and can be inferred from the extract.
3. Choose the option that completes the sentence given below.
Just as the brightness of the winter’s moon is veiled behind the haze and mist, similarly,




the pain of separation has shaded mother’s expression.
age has fogged mother’s youthful appearance.
growing up has developed a seasoned maturity in the poet.
d. memories warm the heart like the pale moon in winter.
4. Choose the correct option out of the ones given below.
a. Simile - then merry children spilling
Metaphor - old familiar ache
b. Metaphor - pale as a late winter’s moon
Imagery - Young Trees sprinting
c. Imagery- allldid was smile
Personification - the merry children spilling
d. Personification - Young Trees sprinting
Simile - Pale as a late winter’s moon

o T

a. Option (a)
b. Option (b)
c. Option (c)
d. Option (d)
5.  What do young sprinting trees signify?
a. Active
b. Cheerful
c. Bright
d. All of these
6. Familiar ache refers the poet’s fear.

49 | Draft a notice in 50 words, urging students of classes IX and XI to be volunteer teachers for a three - week
literacy camp to be held in your school for children of the neighbourhood slums as part of the community
service internship. Mention the dates, timings and the venue of the camp. You are Rita/Kailash, teacher - in -
charge of community service.

50 | The Debating Society of your school is organising an inter - school debate. The last date for submitting names
for audition is Friday 17" March. There will be on - the - spot trials. Draft a notice in about 50 words
informing students about the team selection time, date and venue. You are Sarita/Sarit, President, Debating
Society, Flora International School.

51 | As student editor, draft a notice in not more than 50 words for your school notice board inviting articles from
the students for your school magazine. You are Rohan / Rupini Gupta of Vasant Vihar School, Pune.

52 | You are Rani/Raj, Secretary Health Club, National Public School, Ramnagar. You find that after the lunch break
the school playground and verandahs are littered with wrappers, paper/polythene bags, etc. Write a notice in
about 50 words advising students to refrain from doing so.

53 | The Traffic Police of your district has agreed to hold a one - day programme on road safety in your school.

Draft a notice in about 50 words to be put up on the school notice - board, informing students of classes 8 -
12 to assemble at the appointed place. You are Shaili/Suneet, Sports Incharge. Mention day, date, time and

venue.

54 | You are Akhil/Amala, the Secretary of the History Club of Margaret Public School, Utsavnagar. The club has
decided to conduct an educational tour to the local historical sites for students of class XI. Draft a notice
informing the students of the proposed tour. Invent all necessary details.

55 | You are the President, Literary Society of Hans Public School, Railpura. Draft a formal invite to the renowned
author Ms. Savita Patil, requesting her to conduct a workshop on Creative Writing in your school. Invent
necessary details. You are Anita/Amit.

Economics

1. What was the infant mortality rate of India during British rule?

2. State the life expectancy in India during British rule.

3. What do you mean by infant mortality rate?

4. Give the name of one economist who estimated India’s per capital income during colonial period.



5. What is meant by commercialization of agricultur.

6. What was the motive behind the deindustrialization by the colonial Govt. in India?

7. Which industries were adversely affected due to partition.

8. What does the export surplus mean?

9. What percentage of India’s working population was engaged in secondary and tertiary sector during British rule?
10. Who is the chairman of the planning commission in India?

11 . What was the idea behind abolition of intermediaries?

12. Write the classification of industries according to IPR-1956.

13. What do you mean by green revolution?

14. What is meant by small scale industries?

15. What is marketable surplus.

16. Who formulates five year plans in India.

17. Write the duration of current five year plan.

18. Name any two Common goals of five year plan.

19. Name the type of economy adopted in India.

20. Name three general problems of an economy.

21. Give any one feature of export.

22. In which year, India adopted High yielding varieties programme for the first time.

23. What are High Yielding Variety (HYV) seeds?

24. Why equity as a planning goal is very important

25. How did government ensure that the small farmers also benefit from the Green Revolution as the rich farmers?
26. Why should plans have goals?

27. Discuss briefly the rationale behind choosing Self-reliance as a planning objective for the Indian economy.

28. What was Indian economy at the time of independence ?

29. State the main features of the Green revolution.

30. Explain the various technical reforms initiated by the government to upgrade the technology in Indian agriculture.
31. What does the export surplus mean?

32. Name some modern industries which were in operation in our country at the time of Independence.

33. At the time of independence, literacy rate was

34. Mention four features of India's agriculture on the eve of independence.

35. What objectives did the British intend to achieve through their policy of developing infrastructure (Railways) in
India?

36. Describe the state of the industrial sector on the eve of independence.

37. Could British follow an industrial policy beneficial for Britain as well as India?Explain.

38. Explain positive effects of introduction of railways by colonical Governmentin India.

39. Briefly discuss the main features of International trade during the British rule.

40. Describe the main problems or deficiencies of the Indian economy at the time of independence depicting it

as underdeveloped.

Political Science

1. When was States Reorganisation Commission formed?

2. Amrita Pritam was a prominent poet from ?

3. How many kinds of challenges that Independent India faced?

4. The States Reorganisation Commission was appointed in which year?

5. When did Hindu Mahasabha come into existence?

6. What is meant by ‘one-party dominance’ in the Indian context?

7. Differentiate between one party dominance and one party system.

8. Who was the Chairman of the Drafting Committee of the Constituent Assembly?

9. What were the election symbols of the Congress Party and Bharatiya Jana Sangh in the first general election of
19527

10. How did the dominance of Congress Party in the first three general elections help in establishing a democratic
set-up in India?

11. Why was the first general election in India considered unusual?

12. How has the method of voting changed from the first General Election of 1952 to the General Election of 2004?
13. Explain any five reasons for the dominance of the Congress Party in the first three general elections.

14. Minority community candidates are nominated by national democratic parties in constituencies. Explain.



15. Which trend in the Congress party is worth emulating?

16. What were the reasons for forming the various factions in the Congress party?

17. Why did the Congress leaders have no desire to form new parties leaving Congress? Give reasons.
18. Who has proposed for the joint setting of planned economy known as the Bombay Plan?

19. The idea of Five Year Plan was adopted in India from?

20. The second five-year plan was draft under the leadership of ?

21. Which five-year planning was formed during 1997-2002?

22. Who was the first Chairperson of the Planning Commission?

23. In India, planning was conceived as the main instrument of ?

24. Planning Commission was scrapped on?

25. In which state the people protest against the proposed Korean POSCO plant?

26. Which of the following commission has renamed NITI Aayog in 2015?

27. When the Planning Commission was set up by a simple resolution in India?

28. From which of the following the country the idea of planning was taken?

29. Into how many parts the budget of the central government is divided?

30. The recommendations of NITI Aayog can become effective only after which of the following’s approval?

31. What were the major differences in the approach towards development
at the time of Independence?Has  the debate been resolved?
32. What was the major thrust of the First Five Year Plan? In which ways

did the Second Plan  differ from the first one?
33. What are the reasons being used by Nehru for keeping India secular?Do you think these reasons were only
ethical and sentimental? Or were there some prudential reasons as well?
34. Bring out two major differences between the challenge of nation building for eastern and western regions of
the country at the time of Independence.
35. What was the task of the States Reorganisation Commission? What was its most salient recommendation?
36. It is said that the nation is to a large extent an “ imagined community” held together by common beliefs,
history, political aspirations and imaginations. Identify the features that make India a nation.
37. Explain the contribution of Deen Dayal Upadhyaya ?
38. Explain the consequences of partition and how it affects the people?
39. Describe the role of sardar Patel in integrating the princely states?
40. What were the challenges faced during the merger of

History

Practice sheet questions.

1) How was "integration within the framework of Caste often a V.Y complicated process?

2) Explain how access to property sharpened social differences between men and women in ancient times.

3) What was the position of those people in a society whose social practices were not influenced by Brahmanical ideas ?
4) Distinguish between Varna and Jati. Also, tell the similarities between the two.

5) How can you say that Mahabharata was widely understood ?

6) What was Stridhana ?

7) what do you think why Brahamanas quoted purusha

Sukta of Rig veda Very Frequently ?

8) Mention any two strategies evolved by Brahmanas to enforce the norms about the Ideal occupations for all the four
varnas contained in Dharmasutras and Dharmashastra .

9) what is the meaning of marriage for bride and bridegroom according to Rig Veda ?

10) Critically examine the duties as laid down in manusmriti for the chandalas.

11) In what ways the Buddhist theory of a social contact different from the brahmanical view of society deriived from
the Purush shukta ?

12) Why Mahabharata considered a colosal epic ?

13) what were three strategies adopted by the Brahmins for enforcing these norms?

14) How new Jatis grouped ?

15) Explain different social dimentions propounded by historians from the central episode of Draupadi's marriage in
The Mahabharata.

16) ' The Mahabharata is a good source to study the social value of ancient times'. Prove it.

17) How important were gender differences in early societies ? Give reasons for your answer.

18) Hew rules of Marriage were followed in early societies?



19) Mention any two features of Gotraa as per the brahmanical Practice . What evidences do we get from the
Satavahanas inscriptions regarding the Inheritance the gotra ?

20) 'Historians find it particularly a difficult task to understand a text as complex at the Mahabharata? Justify the
statement.

21) what was the rules for gotra as given in Brahmanical practice ? Give some examples to show that these rules were
not always followed.

22) Describe the Various stages through which mahabharata was Compiled in the 20th' century.

23) " The dharmasutras and Dharmashastras also contained rules about the ideal occupations of four Categories of
Varnas".Critically examine the statement.

24) Describe how, according to manusmriti paternal estate was to be divided after the death of the parents with special
reference to the right of women.

25) Imagine that you are an author and rewrite the story of Eklavya from a perspective of your choice.

Map work:-

On a political map of India mak and locate the following.

1) Mature Harappan sites:- Harappa, Banawali, Kalibangan, Balakot, Rakhigarhi, Dholavira, Nageshwar, Lothal,
Mohenjodaro, Chanhudaro, Kotdiji.

2) Mahajanapada and cities:- Vajji, Magadha, Kosala, Kuru, Panchala, Gandhara, Avanti, Rajgir, Ujjain, Taxila, Varanasi.
3) Distribution of Ashokan inscriptions:

Pillar inscriptions: — Sanchi, Topra, Meerut Pillar and Kaushambi.

Kingdom of Cholas, Cheras and Pandyas.

4) Important kingdoms and towns:-

Kushanas, Shakas, Satavahanas, Vakatakas,Guptas

Cities/towns: Mathura, Kanauj, Puhar, Braghukachchha, Shravasti, Rajgir, Vaishali, Varanasi, Vidisha

Prepare a project work on one of the following topics.

1) The Indus Valley Civilization-Archeological Excavations and New Perspectives

2) The History and Legacy of Mauryan Empire

3) “Mahabharat”- The Great Epic of India

4) The History and Culture of the Vedic period

Buddha Charita

5) A Comprehensive History of Jainism

6) Bhakti Movement- Multiple interpretations and commentaries.

7) “The Mystical Dimensions of Sufism

8) Global legacy of Gandhian ideas

9) The Architectural Culture of the Vijayanagar Empire

10) Life of women in the Mughal rural society

11) Comparative Analysis of the Land Revenue Systems introduced by the Britishers in India

12) The Revolt of 1857- Causes; Planning & Coordination; Leadership, Vision of Unity

13) The Philosophy of Guru Nanak Dev

14) An insight into the Indian Constitution

15) Comparative study of Stupas and Pillar edicts

16) .Comparative study of Mughal and Vijayanagar architecture.
Learn all the taught chapters.

Business studies

MCQ types Question.
1. Identify the feature of coordination being highlighted in the given statement: “Coordination is not a one-time
function, it begins at the planning stage and continues till controlling.”
(a) Coordination ensures unity of action. (b) Coordination is an all-pervasive function.
(c) Coordination is a continuous process. (d) Coordination is a deliberate function.
2. Identify the process that provides the requisite amount, quality, timing, and sequence of efforts, which ensures that
planned objectives are achieved with a minimum of conflict.
(a) Management. (b) Planning. (c) Coordination. (d) Controlling
3. Coordination is considered to be the essence of management because



(a) It is a common thread that runs through all the activities within the organisation.

(b) It is implicit and inherent in all functions of the organisation.

(c) Itis a force that binds all the functions of management.

(d) All of the above.

4. It is a force that binds all the functions of management.

(a) Cooperation. (b) Coordination. (c) Planning.  (d) Management hierarchy.

5. “The use of knowledge varies from person to person.” Which feature of art is highlighted in this statement.

a) Existence of theoretical knowledge. b) Personalised application

c¢) Based on practice and creativity. d) All of these

6. “The purpose of management is to accomplish organisational goals by providing quality services to the society.” What
nature of management is highlighted in this statement?

a) Restricted entry. b) Professional association. c) Systematic body of knowledge. d) Service motive.

7. Read the following statements of Assertion(A) and Reason(R) and choose the correct alternative:

Assertion(A) — Coordination is needed in all departments and all levels

Reason(R)- Activities are independent in all departments and level

(a) Both A and R are correct. (b) Ais correct R is incorrect

(c) Both A and R are correct and R is the correct explanation of R

(d) Both A and R are correct and R is not the correct explanation of R

8.Assertion(A)- Management cannot be called an exact science.

Reason(R)- Management deals with complex human behaviour,which cannot be determined with accuracy

(a) Both A and R are correct. (b) A'is correct R is incorrect

(c) Both A and R are correct and R is the correct explanation of R

(d) Both A and R are correct and R is not the correct explanation of R

9.A recruiting organisation was able to meet its target of providing one hundred applications to its customers within one
month, but they were no longer able to reduce the price, and instead the price incurred became even more than the

previous expenses. From this example we are able to see that the business enterprise turned into however now
no longer

(a) Effective but not efficient. (b) Efficient but not effective. (c) Efficient but not honest. (d) Effective but not
committing

10.‘Mom'’s Secret Chef’ has reduced the sugar and fat levels of its goods in response to changing customer needs and
tastes. This commercial enterprise strategy suggests that management is-

(a) Anintangible force. (b) A group activity. (c) A dynamic function. (d) A multidimensional activity

11. Which of the following is not True about the principles of management ?

a) General in nature and can be modified and used as a solution ; b) They are Formed by practice and experimentation
c) They are rigid prescriptions. d) None of the above

12. Which of the following is the significance of principles of management ?

a) Providing managers with useful insights. b) Optimum utilisation and effective administration.

c) Scientific decisions.  d) All of the above

13. “Specialisation is the most efficient way to use human effort.” Which principle of Fayol is highlighted in this
statement?

a) Authority and Responsibility. b) Division of work. c) Unity of command. d) Discipline

14. “A manager should have the right to punish a subordinate for wilfully not obeying a legitimate order but only after
sufficient opportunity has been given to a subordinate for presenting her/his case”. Which principle is being discussed in
these lines?

a) Authority and Responsibility. b) Division of work. c) Unity of command. d) Discipline.

15. “Each participant in a formal organisation should receive orders from and be responsible to only one superior.”
Which principle of Fayol is highlighted in this statement?

a) Unity of Direction. b) Scalar Chain. c) Unity of command. d) Remuneration of employees

16. “Taylor called for complete mental revolution on the part of both management and workers.” Which principle of
Taylor is mentioned in this statement?

a) Science not Rule of Thumb. b) Harmony, Not Discord. c) Cooperation, Not Individualism.

d) Development of Each and Every Person to His or Her Greatest Efficiency and Prosperity

17. A manager will purchase 50 tonnes of raw fabric from his nephew, in addition to the other vendors in the market,
sells raw fabric. The supervisor got the raw materials for a higher price than the market price from his nephew’s shop.
Which precept of control did the supervisor violate through doing so?

(a) Unity of command.  (b) Unity of direction. (c) Subordinating personal interest to general interest. (d) Equity
18. Read the following statements of Assertion(A) and Reason(R) and choose the correct alternative:



Assertion(A) — In any organisation coordination is required so that production and sales department can work hand in
hand

Reason(R) — coordination ensures unity of action

(a) Both A and R are correct. (b) A'is correct R is incorrect

(c) Both A and R are correct and R is the correct explanation of R

(d) Both A and R are correct and R is not the correct explanation of R

19. Assertion(A) — Differential piece wage system is used to motivate both efficient as well as inefficient workers
Reason(R) — In differential piece wage system increase in efficiency is correlated with an increase in the wage rate

(a) Both A and R are correct. (b) A'is correct R is incorrect

(c) Both A and R are correct and R is the correct explanation of R

(d) Both A and R are correct and R is not the correct explanation of R

20. Deepak firms are interested in assembling automobiles and other vehicle components. Each of the objects has its
own workspace. Every department has its own charge, strategies, and execution resources, which engage the targeted
efforts of a large number of employees. Identify the board of directors’ rule as observed by the use of Deepak firms
here-

(a) Unity of direction. (b) Order. (c) Remuneration. (d) Division of work.

21. Which of the following is true about Business Environment : —

a) Itis dynamic; b) It is the area or condition in which the business operates ;

c) Different factors in the business environment can impact organization positively or negatively.  d) All of the above
22. Business environment is created by : —

a) Internal factors;  b) External factors; c)Both (a) and (b). d) None of the above.

23. Read the following statements of Assertion(A) and Reason(R) and choose the correct alternative:

Assertion(A) -Economic uncertainty, low brand loyalty, and market division and subdivision are just a few symbols that
can be used to define the business environment.

Reason(R) — Business environment is getting dynamic where changes are taking place at a slow pace.

(a) Both A and R are correct. (b) A'is correct R is incorrect

(c) Both A and R are correct and R is the correct explanation of R

(d) Both A and R are correct and R is not the correct explanation of R

24. Assertion(A) — Manufacturers have flexible manufacturing systems.

Reason(R) — Agricultural and industrial production trends are the economic dimensions of the environment which affect
the business environment.

(a) Both A and R are correct. (b) A'is correct R is incorrect

(c) Both A and R are correct and R is the correct explanation of R

(d) Both A and R are correct and R is not the correct explanation of R.

25. ‘Yo China’ started its business by offering the exemplary combo of noodles and manchurian. In any case, over the
long run, their clients needed better food service, so ‘Yo China’ reacted and started offering sound choices like plates of
mixed greens, natural products, wraps and oats. In the event that ‘Yo China’ hadn’t reacted, they might have lost clients
that needed to eat better food varieties. The above case features one of the focuses identified with the significance of
the business climate and its comprehension by chiefs. Identify it.

(a) It enables in managing speedy changes. (b) It enhances performance.

(c) It allows the organization to pick out threats and early caution signals.

(d) It allows the organization to discover possibilities and get the primary mover advantage.

26. Which of the following is not a component of Economic Environment?

a) Rate of Savings and investment. b) Money supply in the economy. c) Public Debts. d) Consumption habits

27. The social environment of business includes

a) Customs and traditions. b) Values. c) Social trends. d) All of these.

28. Airline companies have Internet and World Wide Web pages where customers can look for flight times, destinations
and fares and book their tickets online.” This is an example of which business environment?

a) Political Environment. b) Technological Environment. c) Social Environment. d) Legal Environment

29. Which of the following is not a component of social environment?

a) Population Shift. b) Composition of family. c) Life expectancy. d) None of these.

30. Authorities all over the world are becoming increasingly concerned about environmental issues. To ensure the same,
numerous national governments recently overturned an order prohibiting the use of plastic luggage, which is non-
biodegradable. As a result, the authorities decided to grant a textile industry subsidy as well (luggage). Within the
statement, the minister mentioned that they believe it will be beneficial because human incomes are increasing and
more people are able to afford cotton baggage. Following this subsidy, Aman discovered amazing ability in the cotton
cross luggage industry, which had no longer been established in India but was thriving in the UK, where he had



completed his graduation. He launched the product, and his business took off. As a result, more groups entered the
market with various articles and modifications.

Based upon the above paragraph answer the following questions-

I. Which business dimension is highlighted in the line,” As a result, the authorities decided to grant a textile industry
subsidy as well (luggage).”

(a) Legal. (b) Political. (c) Economic. (d) Social.

Very Short question.

1. What is the main objective of any organization?

2. Production manager tries to produce goods with minimum costs. Name the concept which is being focused by
management?

3. Name the techniques of Taylor which is the strongest motivator for a worker to reach standard performance.

4. The directors of XYZ limited, an organization manufacturing computer, want to double the sales and have given the
responsibility to the sales manager. The sales manager has no authority either to increase sales expense or appoint new
salesmen. Hence, he could not achieve this target.ldentify the principle violated in this situation.

5. What was the responsibility given to private sector after independence?

6. What do you mean by Liberalisation?

Short questions..

1. Explain the specific and general forces of business environment ?

2.Enumerate the benefits of understanding business environment?

3. Mr. Kunal is working as the Finance Manager of XYZ Ltd. At what level of management is he working? State any two
functions being performed by him.

4. ‘Coordination is a continuous activity’. Explain?

5. Which technique of Taylor suggests that each worker should be. supervised by specialists? Give the designations of
any four specialists. suggested by him.

6. An organization follows the principles of management. What are the adverse effects of each of the following
principles of management on the organization?

(i) Unity of Command. (ii) Order. (iii) Stability of tenure of personnel.

Long amswer type questions.

1. Taylor’s principles of scientific management and Fayol’s principles of management are mutually complementary.” Do
you agree with this view? Give any four reasons in support of your answer.

2. Explain the technique ‘Functional Foremanship’.

3. A company manufacturing laptops is facing the problems of decreasing sales in the market. You can imagine any
product about which you are familiar with. What steps, each level of management should take to give effect to this
decision?

4. Rohan was working in Wills Ltd., a manufacturer of air conditioners. He found that the sales of the company was
declining since 9 months resulting in reduction of profits, so he analyzed the business environment to find the reasons :-
a) Identify the level of management at which he is working.  b) State the functions performed by him

5. Understanding of environment by business managers enables them not only to identify and evaluate, but also to
react to the forces external to their firms? In the light of the statement, explain any four points of importance, of
business environment?

6. The court passed an order that all schools must have water purifiers for the school children as

a. Society in general is more concerned about quality of life.

b. Innovative techniques are being developed to manufacture water purifiers at competitive rates.

¢. Incomes are rising and children at home are also drinking purified water.

d. The government is also showing positive attitude towards the water purifier business.




Accountancy

ACCOUNTING OF ISSUE OF SHARE CAPITAL
-SHORT ANSWER

Question number 1 to 8

(NCERT)

-LONG ANSWER QUESTIONS

Question number

1,6,7,8, 10

-NUMERICAL QUESTIONS (NCERT)

Question number

6,7,13,16,17, 18, 19

Solve all the numerical examples given in NCERT




